Name Date

Exponents and Scientific Notation

Dear Family,

People shop on the Internet, talk to one another using email, and keep digital photo
and video albums. Computers represent all this information using numbers.

The number system that computers use is based on powers of 2 and is called the
binary system. For example, the number 45 is represented as
32+ 8+ 4 +1=2%+2%+2% + 2% Try this with your student.

o Find the first eight powers of two, starting with 2° = 1. Write these values
on the blanks under the powers of two in the table.

27 = | 26= | 2°= |2%=|23= | 22= | 2l= | 2°=
1

Power

Digit (0 or 1)

e Pick any number from O to 255. Find the sum of the powers of two that equal
your nhumber.

e Putalinthe "Digit" row if the power of two is in your number; put a O in the
"Digit" row if the power of two is not in your number. For example, the digits
for 45 are shown below because 45 = 2° + 23 + 22 + 20,

Power | 27 | 26 | 25 | 2% | 23| 22| 2t | 2%
Digit |0 0|10 |1]|1]0]1

e Worite your number as a binary number. For example, 45 is 00101101.

Computer storage and file sizes are often recorded in kilobytes. A kilobyte is equal
to 21° bytes = 1024 bytes. People often round this to 1000 bytes. Ask your student

to research what powers of two correspond to megabyte, gigabyte, and terabyte.
Find the following information on the Internet or in the library.

e How many kilobytes does a typical page of text use?
e How many megabytes does a typical digital photo use?

e How many gigabytes does one minute of video typically use? How does video
compare to audio?

Understanding powers helps make computer terms a 6/ more familiar!
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Exponentes y Notacidn Cientifica

Estimada Familia:

Las personas compran por Internet, conversan entre si usando el correo electrénico y
tienen dlbumes de videos y fotos digitales. Las computadoras representan toda esta
informacion usando nimeros.

El sistema numérico que las computadoras usan se basa en potencias de 2 y se llama
sistema binario. Por ejemplo, el nimero 45 se representa como
32+8+4+1=2%+2%+2% 1+ 2° Intente hacer esto con su estudiante.

Encuentren las primeras ocho potencias de dos, empezando con 2° = 1. Escriban
estos valores en los espacios en blanco bajo las potencias de dos en la tabla

Potencia

27

26 =

25

24

23

22

= | 2l= | 29 =
1

Digito (0 6 1)

Escojan cualquier nimero entre O y 255. Encuentren la suma de las potencias de
dos que equivalen a su ndmero.

Cologuen un 1 en la fila de "Digito” si la potencia de dos se encuentra en su nimero;

cologuen un O en la fila de "Digito"” si la potencia de dos no se encuentra en su nimero. Por
ejemplo, los digitos de 45 se muestran a continuacién porque 45 = 2° + 23 + 22 4+ 2°.

Potencia

27

26

25

24

23

22

21

20

Digito

0

0

1

0

1

1

0

1

Escriban su nimero como nimero binario. Por ejemplo, 45 es 00101101.

¢Cudntos kilobytes usa una hoja de texto comin?

¢Cudntos megabytes usa una fotografia digital comdn?

La capacidad de almacenamiento de una computadora y los famafios de los archivos a menudo
se registran en kilobytes. Un kilobyte equivale a 21° bytes = 1024 bytes. A menudo, la
gente redondea esto a 1000 bytes. Pida a su estudiante que investigue qué potencias de
dos corresponden a megabyte, gigabyte y terabyte. Encuentren la siguiente informacion
en la Internet o en la biblioteca.

¢Cudntos gigabytes usa un minuto de video comin? ¢Cémo se puede comparar el
video con el audio?

iComprender las potencias permitird que se familiaricen un poco mds con los términos
de computacién!
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Non Dat

Espozan ak Notasyon Syantifik

Ché Fanmi:
Moun achte sou Entenet, pale youn ak 16t avek imel, epi kenbe albom foto ak videyo
dijital. Odinaté reprezante tout enfomasyon sa yo avék chif.
Sistem nimerik ke ddinate yo itilize a baze sou pwisans 2 donk li rele sistém bine.
Paregzanp, yo reprezante chif 45 lakonsa 32 + 8 + 4 + 1 = 2° + 23 + 22 + 20,
Eseye sa avek elév ou a.
o Jwenn wit premye pwisans de yo, kdmanse avek 2° = 1. Ekri valé sa yo nan
espas ki anba pwisans de yo nan tablo a.
) 27 = |26= | 2= |2%= |23= |22= |2'= | 2°=
Pwisans 1
Chif (O oubyen 1)
e Chwazi nenpdt ki chif ant 0 ak 255. Jwenn som pwisans de ki egal chif ou a.
e Mete yon 1 nan liy "Chif " la si pwisans de a nan chif ou a; mete yon O nan liy
"Chif" la si pwisans de a pa nan chif ou a. Paregzanp, nou montre chif sa yo
pi ba a pou 45 poutet 45 = 2° + 23 + 22 4+ 20,
Pwisans 27 26 25 24 23 22 21 20
Chif ojojt1yo01,1|0)1
e Ekri chif ou a sou fom chif biné. Paregzanp, 45 se 00101101.
Dimansyon memwa ak fichye odinaté souvan anrejistre an kilo-okté. Yon kilo-okte
egal 2!° okté = 1024 okté. Moun souvan awondi sa 1000 okté. Mande elév ou a pou
li fé rechéch sou ki pwisans de ki koresponn avek mega-okte, jiga-okte ak
tera-okté. Jwenn enfomasyon sila yo sou Enténét oswa nan bibliyotek.
e Konbyen kilo-okte yon paj teks abityel itilize?
e Konbyen mega-okté yon foto dijital abityel itilize?
e Konbyen jiga-okté yon minit videyo abityelman itilize? Kijan videyo ye
pa rapo ak odyo?
Konprann pwisans ede fé nou vin yon ti jan pi abitye ak tém ddinate!
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